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Normfarbwertkontrast
Yoc=Yw nc=100,

1% ABaNDU3=IN(A 17+t A2Y)/(A2nAon)  (Yn/100<Y<=Y,o)

1* L aBaNDU3 =IN(A 10tA2 ) (A Ao (X=Y1Y,)
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1* L ABINDU3 =IN(A 10 +A2RY)/(AnAon)  (Ynd/100<Y<=Y,o)
1%L ABINDU3 =IN(A 10+ A2X) (A2 Aon) - (X=YTYY)
I y(3,6)=491L1* ,(18)=1116/*y(90)=1737

I* ggfl* =1,55, Ay,=0,6666, 4,=0,0699, ¢=0,67

I* g/l =1,00, An=0.011, A,=0,0038

I*3I*,=0,43, 1% =1115 68 Y =18

log[i* /I* ]=0, m,=0,33

CGU30-2A
log(AY/AY,)
AYIAY,

LABJNDuS3 relative
Normfarbwertdifferenz
Yne=Yw nc=100,
1* L ABINDU3 =IN(A 10 +A2RY)/(AnAon)  (Ynd/100<Y<=Y,o)
I* L ABINDU3 =IN(A 10+ A2)/(A2uPon) - (X=YTYY)
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S/Su=OYMIAYY), yomy TS
I* L ABINDU3 =IN(A 10 +A2RY)/(A2nAon)  (Ynd/100<Y<=Y,o)
1%L ABINDU3 =IN(A 10+ A2 (A2 Pon)  (X=YTYY)
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